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7. (3x+2y)?-16x2 Bl

> E

O EHE D (Tx+2y) (—x+2y)

B

(3x + 2y)? — 16x2

= (3x +2y)% — (4x)?
=A?>-B>=(A+B)(A-B)

= (3x + 2y + 4x) (3x + 2y — 4x)
= (Tx+ 2y) (—x + 2y)




8.

rot

(2x - 1)* = (x +2)* & ALESEHA (3x +a) (x + b) 7F Aok D
o m, a — b o] = F5HH?

® -1 @ 3 @0 @ 2 ©) I
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2x—1=A, x+2 = BE X|3s}H
(2x-1)% - (x+2)?
=A%2-B>=(A+B)(A-B)
=(2x-1+x+2)(2x—1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=1+3=4
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3x—2=X, 2x+3=YZ 23IH
(3x—2)2 - (2x+3)2

=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)
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a*>+2a-b+1=(@*+2a+1)-0b* = (a+1)>2?-0p* =
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W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)
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